Place Value

Name:

Place Value

Solve the equations.
1.900 +40 + 2= . 8000 + 200 + 10 =

700 + 30 + 2

Name:
. 600 + 3 = P|GC8 Value

Write the value of the underlined numbers. Match the

numbers with the letters to find your answerl
. 800 + 30 + 4=

L-7867:= C-6997:= N
. 400 + 70 + 8 = -

200 +5 = A-14978=___ Y -94436 =

.200+90+3=__ R-24872+ M-21,435=

. 900 +5 =
E-5638=___ 5-1347=__
9.500+20+7=___
T-65712= I-58524-=

10. 800 + 4 =
N-36447=__ K-36472=__

6,000 4000 2 40 4000 70 5,000

40 30,000 5,000 4,000 400 30

4,000 30,000 500 1000 4,000 800 40




Place Value

Place value is the value of each digit in a number. It's
important to understand that whilst a digit can be the
same, its value depends on where it is within the number.

5 '689 The 5 is this number is in

f the thousands place, so the

value is B00. The 6 is in the

hundreds, so the value is
2.isik the tens
place, so the vdue is 80.

:P re\gié .I "l‘se .nes place,

Ones place




Place Value

Have a go together. Write the value of each of the
numbers below. The first one is done for you.

4,596 = 4,000 +500+90 + 6

9,218 = 9,000 + 200 + 10 + 8

14,542 [ 10.000 + 4,000+ 500
ieVIEW




Place Value

Have another go together. Write the value of each of
the numbers below. The first one is done for you.

5,000 + 600 +90+9=5,699

8,000+400+70+2 =8,472

3,0001+ @00 + 30 + 7 =|3,937
review




Place Value

Have a go by yourself. Write the value of each of the
numbers below.

7 463 = 7,000 + 400 + 60 + 3

1 648 = 1,000 + 600 + 40 + 8

19,638|- fOOO + 9 0001+ 600




Place Value

Have a go by yourself. Write the value of each of the
numbers below.

2,000+400+10+1 =241l

9,000+900+10+5 =9915




Place Value

Complete the worksheets below to get some important repetition!

Fambs

- Name: Name:

Place Value

P I ac e Va l u e Write the value of the underlined numbers. Match the
numbers with the letters to find your answerl!

Solve the equations. L-7867: C-6997=
1.900 + 40 + 2 = . 8000 + 200 + 10 =

700 +30+2= . 6000 + 700 + 20 = A-14978=__ Y-94436=_

. 600 + 3 = . 6000 + 400 + 8 = —eqofc= M-21435=

. 800 + 30 + 4 = . 6000 +90=___ 5-1347=___

.400 + 70 + 8 = . 4000 + 600 + 7 =

.200 + 5=

- JAFQV]

.900 + 5 = . 1000 + 300 + 30 = ______

.500 + 20 +7 =

10 800 + 4 = 7000 + 900 + 60 = 4,000 30,000 500 1000 4,000 800 40




